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WEST BENGAL STATE UNIVERSITY 

B.A. General Part-II Examination, 2022  

PHILOSOPHY 
PAPER: PHIG-III 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A
িবভাগ-ক 

Answer Question No. 1 & 2 and any two from the rest within 300 words each
১নং ও ২নং pű এবং অবিশŶ pűgিলর মেধ° �থেক �য-�কােনা dিট  pেűর উtর pিতিট ৩০০ শেbর মেধ° দাও 

1. Answer any five questions from the following within two sentences each: 
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর pিতিট dিট  বােকয্র মেধয্ দাওঃ 

2×5 = 10

(a) Distinguish between anumiti and anumāna. 
অনুমান ও অনুিমিতর পাথর্কয্ িনেদর্শ কেরা। 

(b) What is Vyāpāra? 
বয্াপার কােক বেল ? 

(c) What is Vipakṣa? Give an example. 
িবপk িক ? একিট উদাহরণ দাও। 

(d) What is the meaning of the term ‘syat’? 
‘সয্াৎ’ শbিটর অথর্ িক ? 

(e) Identify the hetu and sādhya of the following inference: 
Ram is generous person since he is a king. 
িনmিলিখত অনমুােনর েহt ও সাধয্ িচিhত কেরাঃ 
 রাম দয়ালু বয্িk, েযেহt িতিন রাজা। 

(f) Distinguish between Vyāpya and Vyāpaka with an example. 
একিট উদাহরণ িদেয় বয্াপয্ ও বয্াপেকর পাথর্কয্ িনrপণ কেরা। 

(g) What is the meaning of ‘Naya’ in Jaina Philosophy? 
�জনদশর্েন ‘নয়’ শbিটর অথর্ িক ? 

(h) Name the steps for establishing Vyāpti. 
বয্ািpgেহর উপায়gিলর নাম েলেখা। 

(i) What do you mean by Pakṣadharmatā jñāna? 
পkধমর্তা jান কােক বেল ? 
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(j) Mention the form of the parāmarśa jñāna of the following:  
Sound is eternal, because sound is a quality. 
িনmিলিখত অনমুানিটর পরামেশর্র আকার উেlখ কেরাঃ  
শb িনতয্, েকননা শb একিট gণ। 

  
2. Write short notes on any two within 100 words each from the following: 

িনmিলিখত েয-েকােনা dিটর  উপর (pেতয্কিট ১০০ শেbর মেধয্) সংিkp টীকা েলেখাঃ  

5×2 = 10

(a) Definition and Classification of Vyāpti 
বয্ািpর লkণ ও িবভাগ 

(b) Saptabhanginaya 
সpভñীনয় 

(c) Anumiti 
অনুিমিত 

(d) Classification of Hetu. 
েহtর িবভাগ। 

  
3. Define Parāmarśa. Explain the necessity of Parāmarśajñāna in the context of 

anumiti. 

পরামেশর্র লkণ দাও। অনিুমিতর জনয্ পরামশর্ jােনর pেয়াজনীয়তা বয্াখয্া কেরা। 

5+10

  
4. Distinguish between Svārthānumiti and Parārthānumiti. Name and explain the 

five constituent parts (avayavas) of a Parārthānumāna with the help of suitable 
examples. 

sাথর্ানুিমিত ও পরাথর্ানিুমিতর পাথর্কয্ িনেদর্শ কেরা। পরাথর্ানুমােন pযুk পাঁচিট অবয়েবর নাম উেlখ 
কের উপযুk উদাহরেণর সাহােযয্ বয্াখয্া কেরা। 

5+10

  
5.  (a) Distinguish between Kevalānvayi, Kevalāvyatireki and Anvayavyātireki type of 

Anumāna. 
6+9

(b) Identify the following cases either as Kevalānvayi or Kevalāvyātireki or as 
Anvayavyātireki. Give reasons in favour of your answer. 
(i) A table is knowable because it is nameable. 
(ii) Earth is different from other elements because it has smell. 
(iii) The hill is fiery because it is smoky. 

(ক) েকবলাnিয়, েকবলবয্িতেরিক এবং অnয়বয্িতেরিক অনুমােনর মেধয্ পাথর্কয্ িনেদর্শ কেরা। 
(খ) িনmিলিখত অনমুানgিলেক েকবলাnিয়, েকবলবয্িতেরিক অথবা অnয়বয্িতেরিক অনুমান rেপ িচিhত 

কেরা এবং িনেজর উtেরর সপেk যুিk দাও। 
(১) এই েটিবলিট pেময়, েযেহt এিট অিভেধয়। 
(২) পৃিথবী অনয্ানয্ ɛত েথেক পৃথক, েযেহt তার গn আেছ। 
(৩) এই পবর্তিট বিhিবিশŶ, েযেহt তােত ধূম আেছ। 

  
6. Critically explain Jaina Syādvāda.

�জন সয্াদবাদ সিবচার বয্াখয্া কেরা। 
15
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 GROUP-B
িবভাগ-খ 

 Answer Question Nos. 7 and 8 and any two from the rest 
৭নং ও ৮নং pű এবং অবিশŶ �য-�কােনা dিট  pেűর উtর দাও 

7. Answer any five questions from the following: 
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10 

(a) Only citizens can vote. Give the logical form of this sentence. 
েকবলমাt নাগিরকরাই েভাট িদেত পাের। — এই বাকয্িটর যুিkিবjানসmত rপ দাও। 

(b) Give the obverse of the following proposition: 
িনmিলিখত বচনিটর িববতর্ন কেরাঃ 

Some men are not happy. 
িকছু মানুষ সুখী নয়। 

(c) Express in Boolean notation and draw Venn diagram: 
বুলীয় িলিপেত বয্াখয্া কেরা এবং েভনিচেt pকাশ কেরাঃ 

Nothing is both round and square. 
েকান পদাথর্ই একেt েগালাকার এবং বগর্াকার হেত পাের না। 

(d) What are the names of valid moods of syllogism in second figure? 
নয্ােয়র িdতীয় সংsােনর �বধমূিতর্gিলর নাম কী ? 

 

(e) Show the forms of Mill’s method of Agreement. 
িমেলর অnয়ী পdিতর আকার েদখাও। 

(f) Symbolize the following: 
িনmিলিখতgিল pতীকািয়ত কেরাঃ 

P is the necessary condition of q. 
P হল q-এর আবিশয্ক শতর্। 

(g) If p be false, determine the truth-value of (p  q). 
যিদ p িমথয্া হয় তেব (p  q)-এর সতয্মূলয্ িনধর্ারণ কেরা। 

(h) Use truth-table to define the logical connective ‘.’ 
েযৗিkক সংেযাজক ‘.’ েক সংjািয়ত করার জনয্ সতয্সারণী বয্বহার কেরা। 

(i) What is tautological statement form? 
sতঃসতয্ বাকয্াকার বলেত িক েবাঝায় ? 

(j) Give an example of contradictory statement form. 
sতঃিমথয্া বাকয্াকােরর একিট উদাহরণ দাও। 

  
8. Write short notes on any two of the following: 

িনmিলিখত েয-েকােনা dিট  িবষেয়র উপর সংিkp টীকা েলেখাঃ 
5×2 = 10

(a) Boolean interpretation of categorical propositions 
িনরেপk বচেনর বুলীয় ভাষয্ 

(b) Material obversion 
বstগত িববতর্ন 

(c) Fallacy of illicit Minor and Major (with examples) 
অৈবধ পk ও অৈবধ সাধয্ েদাষ (উদাহরণসহ) 

(d) Rules of conversion. 
আবতর্েনর িনয়মাবলী। 
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9. Test the Validity of the following syllogism or syllogistic forms by means of 

Venn diagram (any three): 
েভনিচেtর সাহােযয্ িনmিলিখত নয্ায় বা নয্ায় আকারgিলর �বধতা িবচার কেরাঃ (েয-েকােনা িতনিট) 

5×3 = 15

(a) AOO — 3 
(b) OAO — 4 
(c) No Republicans are Democrats; so some Democrats are wealthy men, since some 

wealthy men are not Republicans.  
pজাতntীরা গণতntী নয়, সুতরাং, িকছু গণতntী ধনী, কারণ িকছু ধনী pজাতntী নয়। 

(d) Some scientists are philosophers, since some mathematicians are philosophers 
and all mathematicians are scientists. 
িকছু িবjানী দাশর্িনক, েযেহt িকছু গিণতj দাশর্িনক এবং সকল গিণতj হন �বjািনক। 

  
10. Test the validity of the following with the help of Truth Table: (any three) 

সতয্সারণীর সাহােযয্ �বধতা িবচার কেরাঃ (েয-েকােনা িতনিট) 
5×3 = 15

(a) (p  q)  (p  q) 
p  q /  p  q 

(b) p  (q  r) 
(q  r)   p /   p 

(c) (p  q)  (p  q)  
 (p  q) /   (p  q) 

(d) If terrorists’ demand are met, then lawlessness will be rewarded. If terrorists’ 
demands are not met, then innocent hostages will be murdered. So either 
lawlessness will be rewarded or innocent hostages will be murdered. 
যিদ সntাসবাদীেদর দাবী েমেন েনওয়া হয়, তাহেল �নরাজয্েক পরুskত করা হয়। যিদ সntাসবাদীেদর দাবী 
না মানা হয়, তেব িনরপরাধ অপhত বয্িkরা খুন হন। সুতরাং, হয় �নরাজয্ পুরskত হেব, অথবা 
িনরপরাধ অপhত বয্িkরা খুন হেবন। 

  
11. Use truth-table to determine whether the following statement forms are 

tautologous, self-contradictory or contingent: 
িনmিলিখত বচনাকারgিল sতঃসতয্, না sতঃিমথয্া, না আপিতক তা সতয্সারণীর সাহােযয্ িনণর্য় কেরাঃ 

5×3 = 15

(a) p  [  p  (q   q)]  
(b) (p  q)  (p   q)  
(c) p  [p  (p  q)]. 

  
12. Explain and examine Mill’s Method of Difference. 

িমল-এর বয্িতেরকী পdিত বয্াখয্া ও িবচার কেরা। 
10+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 ——×—— 
 


